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PROFESSIONAL EXAMINATION BOARD

Group 2 Lab Technician 2015

AGRI 18th Oct 2015, 02:00 PM

Topic:- General Knowledge
1))

Question Stimulus :-

Madhya Pradesh was formed on the recommendation of:

HET YA HT TS+ FhEhT HRIHT I g3 4T ?

Pandit Nehru / 9f3d 8w

Sardar Patel / 93€R 9e&or

State Reorganization Commission / 31y gﬁ?IB?I' 3TIYT

State Disintegration Commission / 35 faerest 3mater

Correct Answer :-State Reorganization Commission / I1oY El_’?hl%?l' TIRT

2)
Question Stimulus :-

Mark the correct statement about freedom fighters from Madhya Pradesh?
ALY G2 F Tqaa1 GATHA YATAAT & Faed H Tl HUA HleT AT E7?
e Kunwar Chain Singh was the first martyr of battle of freedom./
TaAAT A & 95 UPE FAY drae &
e Rani Avanti Bai of Ramgarh, fought along Mandla army./
G Y T et 1§ AT Y Fa1 & Ty S A
e Sindhiya of Gwalior and Nawab of Bhopal fought against British during 1857./
TarfaraR & AT it sturer & aare 3= & Reg 1857 A @3 A

e All of the above. /

IWTd gl
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Correct Answer :-All of the above. / 3URFd |

3)
Question Stimulus :-

Pranahita is famous as:
yrorfear safav ufg 82
o A waterfall in Jabalpur./
SAIAGY T Teh STeq Tl
e Power project on the Chambal river./
SAIAGY T Teh ST qTed
¢ Junction of Vardha and waniganga rivers./
et v 3=t arem AT F1 HIrAH
¢ Old name of kshipra river./

R &) &7 =i AT

Correct Answer :-Junction of Vardha and waniganga rivers./ YT vg 3= rem AfeAY 1 HorA

4)
Question Stimulus :-

Madhya Pradesh Nagar Palika Nigam Act 1944 was passed to enforce?

FEY YT IR ifersht JTATATH 1944 F41 9] F3ar & forw il o aram a2
e 73" constitutional amendment act./
wfaere &1 73 a1 gae
e 74™ constitutional amendment act./
wfaere &1 74 a1 g

2nd

e To promote girl’s education. 72" constitutional amendment act./

TsfFaT FI e F T3 & AT GRS &1 72 a7 FEET
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e None of these. /
IRTFT H A FIg T8

Correct Answer :-
74t constitutional amendment act./ HIAUTT FT 74 a7 TAET
5)
Question Stimulus :-
Mark the correct statement about the Governor of a State:
(a) He is appointed by the President of India.
(b) Current Governor of MP is Mr. Ram Naresh Yadav.

(c) Minimum age qualification is 35 years.

Rt T5T & TSI & e H TE HUT FlT ATR?
(a) 3oThY FAgaar TR & Tregufer Ry Y SATelt &
(b) AT YN & TIATT ToqqTer 2 THAYL I1Ea &

(c) FLAAA 3H 35a¥
e a&b

b&c

a&ec

a,b&c

Correct Answer :-a,b & ¢
6)

Question Stimulus :-

Laadli Lakshmi Scheme benefits are:

TSl T&HY ISTAT F T

e Limited to 2 girl children only./
S asfFal ar dfAag
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e Limited to 3 girl children only./
et arsfral ar AT
e Limited to 1 girl children only./
tw asfFa e ifFad
e Limited to 4 girl child.
IR wsfRal o AfFa
Correct Answer :-
Limited to 2 girl children only./ & JsfFal & @RI &

7)
Question Stimulus :-

Madhya Pradesh’s first Wildlife Awareness Centre is at:
T Y20 T IgT I SNaeT ARTEHAT $og Fal 10T 87

Chhindwara./ f&garsr

Ralamandal, Indore./ TTHS, §aX

Bohani, Narshingpur./ S¥grf, s

Khamariya, Jabalpur./ @ARET, Seeqy

Correct Answer :-

Ralamandal, Indore./ TTHES, §&R

8)

Question Stimulus :-

What are the features of the Vindyachal Super Thermal Power Station?
(a) Stationed at Vindhya Nagar, Singrauli, Madhya Pradesh.

(b) It comes under Super Thermal Power stations series.

(c) Manufactured by NTPC.

feearae g Regga are @ fr gl w2 §?
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(a) TR, RTRYCH, AeT e A Rua §
(b) TE U fargga araerel Y siwen F1 Reard

(¢) NTPC &aRT 3cuifed &
e a&b
e a&ec
e b&c
e a,b&c
Correct Answer :-a & b
9)
Question Stimulus :-

Cabinet Committee on Economic Affairs (CCEA) approved Intrastate Transmission System in 7
states. Which of these states comes under this?

3T ATl At Fase FfAfA & FAENT IRYOT Jorrelt F1 3epAle 1Y TSl F AT R g Fe @
T SHSF e TaTd T &2

Assam./ 3TGH

Madhya Pradesh / A& geer

Kerala./ Tal

Manipur./ #fAqT
Correct Answer :-Madhya Pradesh / 7T &er

10)
Question Stimulus :-

Rakesh Sahni has been appointed as the chairman of?

T WGt Y e 1 3rewrat fagera fram arm 82
e MP Electricity Regulatory Commission./

#ey yer faega s smavr
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e B.H.E.L./

). v §. T,

e Narmada Valley Development Authority./

ToeT aeft faemTer wiferEor

e NTPC.
oot 8L ot .
Correct Answer :-Narmada Valley Development Authority./ sT5er aelt faerrer arf@reor

Topic:- General Maths
1)

Question Stimulus :-

By selling 8 bananas, a fruit seller gains an amount equal to the selling price of 1 banana. Calculate
his gain percent.

UF B [Ashdr 8 Fo TTF U Fol F1 FAHT HeT A1 7 IToed HTa1 8| 30 amer wferera iy arore
Hifa]

2 2
1572 / 157gfaera

2 2
1472, / 1479fQera

2 2
167 % / Tofaera

None of these./ SAR & IS gl

2 2
Correct Answer :-147 % / 147gfaera

2)
Question Stimulus :-

The price of petrol falls down by 20%. By how much percent must a man increase his
consumption, so as to keep his expenditure constant?

YT & T 20 TFA2UT A F &1 AT U SqTFd P 39ell @ AT @A & foIT @I FT fhaelr
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gfarera e Tnfge?

42%

25%

20%

10%

Correct Answer :-25%
3)
Question Stimulus :-

A sum of money doubles in 10 years. In how many years will it become four times at the same rate
of simple interest?

ue TfRr10 ast F SWrett 81 SATeh F1 AR sATe At FATT & A e ant 7 4 A g Smeaf?

30 years / 30 a¥

50 years / 50 a¥

20 years / 20 a¥

25 years / 25 a¥

Correct Answer :-30 years / 30 a¥
4)
Question Stimulus :-

In what ratio should water be mixed with wine, that costs Rs.60 per litre, so that the price ofthe
resultant mixture is Rs.40 per litre?

forar JreqaTer #F aTelt Y 60 T I ST AT T F A1y AT ST AT AT FT HEw 40 T wfa e
gl STe?

e 2:3

http://localhost:61852/ 7/84



11/24/2015 localhost:61852

Correct Answer :-1: 2
S)
Question Stimulus :-

16 litres of kerosene is mixed with 5 litres of petrol. The price of kerosene is Rs. 12 per litre and
price of petrol is Rs. 33 per litre. The average price of the resultant mixture per litre is? (In rupees)

16 T FAHT 1 5 ofieX I F e Hemr 1471 FHT F71 79 12 F 9fa e 3 e a0
Hed 33 T ufar afex 81 frsor &1 3itwa e wfer dier gem? (vadr )

e 15

e 17

o 21

e 23
Correct Answer :-17
6)
Question Stimulus :-

3 years ago the average age of Sonam’s family, consisting of 5 members,was 35 years. Last year a
child was born in this family. What will be the average age of this family three years from now? (In
years)

et 9 gger e & Ui WeEd T TRER Y itaa 31 35 9€ ot v A1 9 39 RGN A v R
aﬁmmgmlmﬂﬁwquﬁanaﬁaﬁﬂaaﬂmaﬁ? @y #)

e 36

5
34¢

4

355

None of these/ SFF# a El-flé' A8

5

Correct Answer :-34E
7
Question Stimulus :-

In a kilometer race, A can beat B by 100 m and B can beat C by 80 m. If A and C run in the same
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race, by how many meters will A win?

1 fFasfier frals 7 A, B, Y 100 e @ g0 Ha1 8311 B, C #Y 80 HeT ¥ &1 GFhar 8,37 A 31
csHriz A ST ar A, C F fFaa #Aew & wRIm?

e 172

e 178

o 220

e 200
Correct Answer :-172
8)
Question Stimulus :-

16 workers working 6 hours day can build a wall of length 150 meters, breadth 20 meters, and
height 12 meters in 25 days. In how many days 12 workers, working 8 hours a day will build a wall
of length 800 m, breadth 15m and height 6 meters?

16 AT 6 B T H1T FIF T 150 AT o), 20 A AN 3t 12 AT FH DarR A 25 BT &
AT Ghd &1 12 AT 8 B¢ gfafeeT w1 i 800 HeT &d), 15 Her A=Y 31K 6 e 3= Hiar fFa=sr
RT A T ahad &2

o 50 days/ 50 feeT
o 25days/ 25 f&e¥
e 100 days/ 100 =T
e 60 days/ 60 f&eT
Correct Answer :-50 days/ 50 f&=r

9)
Question Stimulus :-

In how many ways can 5 prizes be given away to 7 boys when each boy is eligible for all the prizes?

5 qIRATYET Y 7 ASHT BT fFde dig A T ST ThdT oaucd® 56T IR TIRATTH! Y It & fav
T §?
. 5!
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o« 7!

7
Correct Answer :-5

10)
Question Stimulus :-

What is the sum of first 10 prime numbers?

TYH 10 AT HEATHT FT INT F4T 82

Even/dH

0dd / RwH

Can’t say / &g gl "ohd
None of these / E?l'ﬁl' g HI5 TAer

Correct Answer :-Odd / fav#H

11)
Question Stimulus :-

How many possible pairs of numbers exist whose product is 5400 and HCF is 30.
W o dEanat F 3o wora § o e 5400 3R Fgcaw wHMEdS 30 @7

e 1

Correct Answer :-2
12)
Question Stimulus :-

A two digit number is such that the product of its digits is 12. When 36 is added to the number, its
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digits are reversed. Find the number.

UF & P! A AT F HP FT IO 12 g1 Ie €A # 36 SNST I @ 3dF HF 3¢ I
g5Ea A Ao
e 62
o 54
e 45
e 26
Correct Answer :-26
13)
Question Stimulus :-

Three years ago, X’s age was 2 times as that of Y’s. Seven years hence, the sum of their ages will be
83 years. What is the age of X today?

AT a8 qF X #r A Y A 3P & A oY, 7 asf F ag 3ART A 7 Ar 83 a gem X A
qAATT ATY FAT §7?

47 years/ 47 a¥

35 years/ 35 a¥

45 years/ 45 a¥

26 years/ 26 @Y

Correct Answer :-45 years/ 45 a¥

14)
Question Stimulus :-

Following Graph shows the number of students, who qualified in an examination, of three different
schools, in 5 different years? What is the ratio between the number of students who qualified in the
exam from school C in 2014 and the number of candidates who qualified in the exam from school
Ain 2013?
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&0
Tl
0
&0
&0
54 50 54
S0
40 40 0 0 T
L i)
3030 %) 30 =g
30 C
i
20
10
n i i
2010 23 2014

2011 02

I% 9ig qut # i Aot F ol oEl T FE9r F gAiar §12014 # R[eged C & Iedior
STl A &A1 Td 2012 & faggred A @ 3cclivh ol A &A1 1 3T AT H

5
7

7
5

5
Correct Answer :-/
15)
Question Stimulus :-

This question is followed by two statements A and B. Indicate your responses based on the given
choices?

If a, b and c are three consecutive prime numbers. Is ‘a’ an even number?
Statement A: ab + bc is an even number.

Statement B: abc + bea is an even number.

wmaﬁma#ma’rWAaﬁTBmgc%l 39T afafshar #1 A gu Reeql % MR W
Afra w12
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IR a, b, 3T ¢ T AR IFHTT FEIATT § | FIAT 'a' H TE&AT L2
FUT A : ab + be TH TH HEAT ¢

FY B : abc + bea T §H TE&AT ¢
e If a question can be answered using statement A alone but not by using statement B alone/

I 9o HT Sec Fad FUF A F 3TAT F AT ST TF W] FYA B & 399097 & |

o If a question can be answered using statement B alone but not by using statement A alone/

I 9o FT e Had FUA B & 3TAT ¥ AT 51 FF W FYA A F 39301 § AL

o If the question can be answered using statement A and statement B together but not by using
either statement A or statement B alone/

I 9T FT 3caR FYF A 3R FYqT B F UF T 39AT F faAwm S w9F W et ot v
FUT A AT B & 3940T ¥ LN

e If the question cannot be answered even by using statement A and statement B together/
IfE T & 3cal At FUAT A 3R BF e ary suAhr @ ot 7 wm s wF|

Correct Answer :-If a question can be answered using statement A alone but not by using
statement B alone/ If& T FT ek Hadl FUT A & 3UANT § &A1 ST T Wed Y4 B &
I9ART § AN

Topic:- General Science

1)
Question Stimulus :-

Small pieces of solid matter which are found scattered in the inter-planetary space of the solar
system are known as:

IR quITel % 3e-T6T A FER-34 Bl §U B Jeraf & BIE ¢hs g1l A v ATH § o) 37t &:
o Asteroids/ &% IE
 Meteoroids/ 3o&T 3
o Comet/ gHE

o Satellites/ 393g
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Correct Answer :-Meteoroids/ 3T U8
2)
Question Stimulus :-

The different colours of different stars are due to the variation of?

RffeT art & B Ao T AR@T & ¥ Fad [QEdad F FRor @9 &

Pressure/ gdld
e Temperature/ dTYHTT

Pressure and temperature/ gdId 3R arAE

Surface reactions/ ¥dg 9fafsar

Correct Answer :-Temperature/ dT9HTT
3)
Question Stimulus :-

Water is used to cool the engines of cars, buses, trucks, etc. It is because water has?

qreAt FT 9ANT FRY, T, TH F ST H 38T P F AU fFAr F1ar @1 v sufav FAr Far @
FIfF gl &1

Low specific heat/ /T fafdrse ama gar %

High specific heat/ 3= faflrse am gar &

Low viscosity/ A T egar gt %

High viscosity/ 3Td Teldl gidl %

Correct Answer :-High specific heat/ 3Ta fafrse am gar &
4)

Question Stimulus :-

Which instrument is used to measure speed of the vehicle?

qresT Y AT Y ATT T & AT TFT ITHI0T F1 T2A197 FohaT ST 272
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e Stroboscope/ TRNERT

o Streoscope/ TECATEHIT

e Speedometer/ s

e Tachometre/ THIHET
Correct Answer :-Speedometer/ THEYHIET
3)

Question Stimulus :-

What is the name of alcohol obtained in the saponification process?

doifhdeeT ufhar & Sl @1 sredigd area fHar Srar §:
-Easterlgﬁ'{'

e Glycerol/ TATSAIST

o Acetone/ TRAAT

e Mortar/ AR
Correct Answer :-Glycerol/ TATEA
6)
Question Stimulus :-

What is the chemical name of vitamin B1?

faef@s B1 &1 aafas aF #7482
e Retionol/ IfeANATer
e Riboflavin/ RatFenfas
e Thiamine/ ﬁNTHET-l'
e Ascorbic acid/ THHIfd® s

Correct Answer :-Thiamine/ f3ITHTST

7
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Question Stimulus :-

Which of the following below are the Alloys of solder?
frafaf@a & 2 Wiest #1 s urg 82

Tin and lead/ f&sT a7 9

Iron and nickel/ T'-ﬁé' IR AT

e Copper and zinc/ R IR &Sw
e Copper and tin/ ST AR feer
Correct Answer :-Tin and lead/ f&sT T o3

8)
Question Stimulus :-

Which principle or law states that in an unexcited atom, electrons reside in the lowest energy
orbitals available to them?

fre Rigea 3k e & 37 seaf@a ¢ & et e ooy &, saelrw 3a& AT suasy
qGH FqAdH Fal Afaced # ©A 8

Aufbau principle/ 3itFaTF Rged

Archimede's principle/ 3ThTARs Rgea

Boyles's Law/ Si0alol A g#

Avogadro's Law/ TaleeY faesr

Correct Answer :-Aufbau principle/ 3itFarF Rged
9)
Question Stimulus :-

The method of concentrating the ore which makes use of the difference in density between ore and
impurities is called?

IAEF & Fhegor A1 A, I swew qur agfeEt & A A saw w1 owEr w2 39 fewfaf@a
A § 91 T S0 8

e Liquation/ fararerer
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e Leaching/ ehfear

e Levigation/ afdarers

e Magnetic separation/ ﬂm JYFRIT
Correct Answer :-Levigation/ afastaret

10)
Question Stimulus :-

To manufacture vanaspati from vegetable oil which gas is used?

doiead A A FAEfa 99 & v fvw dw &1 yaher Far amar @2
Hydrogen/ gTggIotel

Oxygen/ 3TFHIST

Nitrogen/ ATSEYSTT

Carbon dioxide/ FTI SSHTFHISS

Correct Answer :-Hydrogen/ g$sisiel

11)
Question Stimulus :-

Which one of the statements given below is/are correct with respect to Tapeworm?
A1 T T garaeat A @ Fiar A1 aFaeT PrarH At & waew A @ e?
A. They are intestinal parasites/ & T RSl g §

B. They survives within the intestines of animals including humans/ ¥ ATal afed tl'ﬂ'&ﬁ Y AT F
saw shfaa wa &

C. They survives within the intestines of animals excluding humans/ & ATeTal & 3reTar 13I'Q_I_,'3ﬂ" $r
FarANRT T E
e Aand B

e AandC

http://localhost:61852/ 17/84



11/24/2015 localhost:61852
e Only A

e A,Band C
Correct Answer :-A and B
12)
Question Stimulus :-

Tetanus is caused by which of the following?

s ¥ fFTd FRUT &AW gar 87
Clostridium tetani/ FMNTECIIA AT
Mycobacterium/ mﬁﬁtﬂﬂﬂ'

Mycobacterium leprae/ ATSHIRTFERIT ARE
Vibrio cholarae/ RRfsat Flems

Correct Answer :-Clostridium tetani/ FANECISIA T

13)
Question Stimulus :-

Antiflatulent is used as?
3ev-aryg Vet &1 y2@nr frw w0 & R s &
e Drug that induces insensitivity to pain/ gaT St @31 & fer HACARIAdT B IURT FT §
e Drug that reduces intestinal gas/ &aT SV AT N FAFANE
e A drug used to lower body temperature/ QI T ATTATT FH FI & T YA Y IS gar
e Drug that is used to prevent pain/ §aT for@sT gawer digr it AvaA F fow fFar smar g

Correct Answer :- Drug that reduces intestinal gas/ aT Sit At AT N FHAFIAE

14)
Question Stimulus :-

Which is the best food source for sodium?
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AfTH & v g9 3reoT A aia F+41 82

Salt/ THS

Cereals/ ATHA

Pulses/ gelgel
Vegetables/ fesrar

Correct Answer :-Salt/ sTHE

15)
Question Stimulus :-

Optical fiber works on the principle of?

TCehd B’ FH RAGTd & ITUR 9T H1HA FdT§ 2

Refraction of light/ YhIT T FYgdd

Reflection of light/ WehT2T T URTacleT

Total internal reflection of light/ FehTRT hT T»'i’ ITIR® W=t

Prism / A

Correct Answer :-Total internal reflection of light/ Y<hIR[ T ‘{Ui' AR WradeT

Topic:- General Hindi
D

Question Stimulus :-

‘ret avg A T FENE F @A, 5 3FA F1 I9F §-
o 3TH & 3 fE & a
o R W FF arerEn
o AFQ eIThY dTCHAT

o ST &
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Correct Answer :-2Igg oI ATCAT
2)
Question Stimulus :-
AS THT FT IqA -
o W TFaF A T@ RAvar
o 3 qEaF H TG Ao o
o 3 TEAF A I RAAwar §
© H TFIS A TG adierar g
Correct Answer : -39 T¥a® 1 I8 Fdwar g

3)

Question Stimulus :-
FIET AT & HTAR @ A wEqT ¢ -
o 35
o at
o QU
o I
Correct Answer :-at
4)
Question Stimulus :-

arelt 1 fareer 2-
o &ER
o 37T
» g

o Il
http://localhost:61852/ 20/84
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Correct Answer :-&9oT
5)
Question Stimulus :-
faeer & & Fler a1 e QT Tl H yAer gar ¥ 2
o el
o odl
o &THT
o A3
Correct Answer :-&THT

6)

Question Stimulus :-
FIOT Jeqw Y A FFE Reg &1 A9 @ar ¥ 2
e ¥
o« H

& faw

e ol

Correct Answer ;-8
7
Question Stimulus :-

UAG Tl aTeT AT B-
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Correct Answer :-Hr
8)
Question Stimulus :-

Reor 78 Fead &2

G HT g<dT

Tﬁarra—rrre

TR ST g1

gﬁT FT FTdOT
Correct Answer :-g-ﬁr FT a1

9)

Question Stimulus :-

=ayor &1 glew fa=deg gem-
o 3eT+IAVOT
o 3T+UNOT

o 3TT+YYOT

HeId+UYOT
Correct Answer :-3I§+F¢UT

10)

Question Stimulus :-
TER-IRER 7H &1 e 34 &
o THAYT- NYATT
o FHCI- &I el
* ARCAT- <INET=AT

o 3cdiseT - yfa=m
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Correct Answer :-HRT- T

11)

Question Stimulus :-
AaE &1 wiew RA=dg gem
o HAME
o Hol: 4§l
o Hel+gY
o HA+IE
Correct Answer :-HeT:+g<

12)

Question Stimulus :-
‘FEIF A UG oA, AT Y T w7 &R
3TFT 9ET § -
o e
o T
o HGT
. 2@
Correct Answer :-agl

13)

Question Stimulus :-
FIeT AT Aeg gA dgagel A 9gFd g ¢ ?
o fary

e YIOT

http://localhost:61852/
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o HfFd
o 3FT H ¥ F§ G
Correct Answer :-9ToT

14)

Question Stimulus :-

faa-adra aeq 7w #1 @ 3 B
o Y- AMATT
o geEN)- BeRfed
o SET-HTIY
o fafRea- swmer
Correct Answer :-ffad- ser
15)
Question Stimulus :-
MNAT FT dgd grel-
. g

meT
- %
¢

Correct Answer :-3N&Y

Topic:- General English
1))

Question Stimulus :-
DIRECTIONS: Choose the option that can be substituted for the given sentence.
The arrangement of events or dates in order of their occurrence.

e Time table.
http:/localhost:61852/ 24/84
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o History.
e Chronology.
e Systematization.
Correct Answer :-Chronology.
2)
Question Stimulus :-
DIRECTIONS: Choose the option that can be substituted for the given sentence.
Primarily concerned with making money at the expense of ethics.
e Mercenary.
e Greed.
e Gluttony.
e Avarice.
Correct Answer :-Mercenary.
3)
Question Stimulus :-
What will be the synonym of ‘Eradicate’?
o Empty.
e Radiate.
e Vacate.
e Remove.
Correct Answer :-Remove.
4)
Question Stimulus :-
What will be the antonym of the word ‘Poverty’?
e Misfortune.
e Adversity.

e Prosperity.

http://localhost:61852/
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e Misery.
Correct Answer :-Prosperity.
S)
Question Stimulus :-
Choose the correct sentence out of the given sentences.
e Majority are in favour of this proposal.
e The committee are unanimous on this issue.
e The average Hindu family in India consist of five members.
e The speaker was not confident in his ability to deliver .
Correct Answer :-Majority are in favour of this proposal.
6)
Question Stimulus :-

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

Sherry never claimed that attempting all the questions in given time could be a piece of cake for
him.

e something really tasty.
e something easily achieved.
e something achieved with greats efforts.
e something as tasty as cake.
Correct Answer :-something easily achieved.
7)
Question Stimulus :-

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

If you need any kind of help, just give me a call. I will come at the drop of a hat.
e at any time.

e without informing.
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e without delay.

e as fast as a hat is dropped.
Correct Answer :-without delay.
8)

Question Stimulus :-

DIRECTIONS: In the following questions groups of four words are given. In each group, one word is
correctly spelt. Find the correctly spelt word.

Find the correctly spelt word.
e Beginning.
e Begining.
e Biginning.
e Bigning.
Correct Answer :-Beginning.
9)
Question Stimulus :-

DIRECTIONS: In the following questions four words are given. . Find the correctly spelt word.

Conscientious.

Consientious.

e Conscienceous.
e Conscientios.
Correct Answer :-Conscientious.
10)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
Mr. Derrick lives ~ Rohini _ Delhi.

e at,in
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e in, at
e by, in
e in, in
Correct Answer :-at, in
11)
Question Stimulus :-
DIRECTIONS: Fill in the blank with correct preposition.
His doctor asked him to abstain __ drinks.
e of
e from
° by
e with
Correct Answer :-from
12)
Question Stimulus :-
DIRECTIONS: Out of the given options, which will be the correct passive form of the sentence?
Her mother is baking a cake.
e A cake is baked by her mother.
e A cake is being baked by her mother.
e A cake was baked by her mother.
e A cake was being baked by her mother.
Correct Answer :-A cake is being baked by her mother.
13)
Question Stimulus :-
DIRECTIONS: Choose the correct articles.
Unemployment is __ universal problem.

e the
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e a

e an

e No article required.

Correct Answer :-a

14)

Question Stimulus :-

DIRECTIONS: Choose the option that has the correct form of indirect speech.
Michael said, “I have passed the examination”.

e Michael said that she had passed the examination.

e Michael said that she has passed the examination.

e Michael said that she would pass the examination.

e Michael said that she would have passed the examination.
Correct Answer :-Michael said that she had passed the examination.
15)

Question Stimulus :-

DIRECTIONS: Arrange the following options to get a meaningful paragraph.
(A) To be healthy we should refrain from excess in eating.

(B) Health is the most valuable of all earthly possessions.

(C) We should eat less and not devour whatever we get.

(D) Without it all the rest are worth nothing.

e ACDB.

e BDAC.

e CDAB

e BADC.

Correct Answer :-BDAC.

Topic:- General Computer Knowledge
)
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Question Stimulus :-

What is the full form of EEPROM ?
EEPROM T 931 AT FAT
e Easily Erasable Programmable Read Only Memory./ éﬁ?ﬁ T GRIAT iz 3rmerely AT

e Electrically Erasable Programmable Read Only Memory./ $a{dcadel gtatadl NATAT {3 MTeTell
AAN

e Electronically Erasable Programmable Read Only Memory./ ﬁﬁ;’lﬁﬁh’ Folad GRImAT iz
ATeTell AR

e Electrically Erasable Program Record Only Memory./ $afdcdhdl stolael N1IATH Rep18 37Tl AR

Correct Answer :-Electrically Erasable Programmable Read Only Memory./ Eﬂﬁw g GRITAT
{3 el AA

2)
Question Stimulus :-

Every computer on the internet is identified by its

FEAT W T HOIE A EaRT 9§ T FI §
e Scanner./ e
e Mother board./ #AEI dIS
e IP Address./ 3E. o). vs@
e Control Unit./ EI@RI’ II:EIE
Correct Answer :-IP Address./ 3T$. 9. Tsq

3)
Question Stimulus :-

The data recording format in most of the modern magnetic tape is
amyfas Avafes Ta A Flor @1 s1er RS wrfe §2

e 7-bit ASCII.
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e 7-bit EBCDIC

e 8-bit ASCII

e 8-bit EBCDIC
Correct Answer :-8-bit EBCDIC
4)
Question Stimulus :-

How many generations are there in computers?
FFgeT H frastt At & qefiea A o wwar 82
° 2
3
e 5
o 4
Correct Answer :-5
3)
Question Stimulus :-

is an input device which inputs sound that is then stored in digital form.

9% 3IYC RBarsw ¥ It fF eafy go7qe &1 Rived w7 § sisR Far ¥

Speaker./ Tf&HT

Track ball./ & STl

Microphone./ ATSHI®IT

Light pen./ dTgc LC}

Correct Answer :-Microphone./ ATSHIBIT
6)
Question Stimulus :-

Which of the following unit is responsible for controlling the transfer of data and instructions among other
units of a computer?
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frafaf@a s it , I & Fogex A 37 sFEA & a9 3o AR Ady F gEareror w® HEha

A & AT PFAER § 2
e ALU
e CU
« MU
e LU
Correct Answer :-CU
7)
Question Stimulus :-

What is Access time in computer?
FFCY TFAH A FAT 52
e Seek time + latency time./
AT + faeear @og Sy qeirer
e Only Seek time/ Fael THT HT TaATA
 Only Latency time /&del Resaraa g
o Execution time + seek time/fASUTEsT ¥AT + AT F¥ Temer

Correct Answer :-Seek time + latency time./ HY + [Aeiadr GHT H TaTer
8)
Question Stimulus :-

is a functional key used to display ‘save as’ box.

AT -U I FI FEea F: & faw Tt 3TN fRaT SITeT 82
¢ F10
« F12
¢ F9
« Fl1

Correct Answer :-F12
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9)

Question Stimulus :-

In MS Excel, by default the number are Aligned.
TH TH TRAA # , Bwiee ®7 & Fa NS FIIRRE |
e Left/ d¥C
e Right/ <
o Justified/ TEEHTFS
o Center/ X

Correct Answer :-Right/ {T§C

10)
Question Stimulus :-

In M.S. Word, what is the use of “Alt + Shift + d”?

UH TH g5 & “Alt + Shift + d” IIIT FAT?

Inserts a table./esel &Y Sﬂé AT

Inserts date./ sﬂé 3T

Inserts the logo./ Sﬂ% i

Inserts picture./
3¢ RaR
Correct Answer :-Inserts date./ $H¢ 3¢

11)
Question Stimulus :-

A byte represents a group of
TF d13C & Us g 1 Yfafafted 872

e 10 bits/10 fae
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e 5bits/5 faT

e 8 bits/8 faT

e 4 bits/4 fae
Correct Answer :-8 bits/8 e
12)

Question Stimulus :-

Which shortcut key is used to minimize current workbook?

FleT W aréwe A Fie &g Ft AAAET F & forw s9zier Hr e §

o Ctrl+F10

o Ctrl+F9

o Ctrl+F12

e Ctrl+F3
Correct Answer :-Ctrl + F9
13)
Question Stimulus :-

What is of the following network device is used to join two network segments together?
fArafaf@a Aecas Bagw & e @1y & dead a4 # afAe w0 & fow waer frar Basa Far?
e Bridge/ f3sr
e Repeater /R
e Firewall/SRITATel
e Bus/dH
Correct Answer :-Bridge/ fast

14)
Question Stimulus :-

Which layer offers peer-to-peer and end-to-end connection between two processes on remote hosts?
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ar TR F i ReAle gve W e d@ o e € fawsiit vos € wos Faeere a8
e Application layer/Tqelihere aax
e Data Link layer/ SICT % I
e Transport layer/ mﬂé’ CELd
e Physical Layer/fhfoi&e aax
Correct Answer :-Transport layer/ SRAINE AT

15)
Question Stimulus :-

Which memory is faster than main memory?

Fla @ AN e AR ISR
e Secondary memory/ §%us{l AA
e Cache memory/ T AA

e Both (a) and (b)/ @ (a) 3R (b)
e Neither (a) nor (b) /o (a) 3T o (b)
Correct Answer :-Cache memory/ e HARY

Topic:- Reasoning

)

Question Stimulus :-

In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original

pair of words.

Treason : Traitor

ferdr g et 3 2 areq 30 X W o gU § 9% 313 39w A $o Wy §1 90 G ersal AN oA
fodr o §1 X 2req gaw AT FTH 9t wa g A A oeg eA H B

SRIGIE : qRIGIR
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e Islam : Muslim / SEATH : ﬂ'ﬁﬂﬂ'
e Crime : Criminal / 3T9RT¢r : 3T9RTel
e Jailor : Jail / dRIYTel: HRIATH
e Renegade : Religion / faearaardt : 4t
Correct Answer :-Crime : Criminal / 3797T¢T : 3TORmel

2)
Question Stimulus :-
Identify the next term in the given series by understanding the pattern of the series.

3,9,21, 39, 63, 93, ?

QY g% AN & A FN FAART 3T IF TEAAL
3,9, 21, 39, 63, 93, ?
e 119
e 103
e 129
e 121
Correct Answer :-129
3)
Question Stimulus :-
What will come next in the following series?

B,D,G,K,P,?

Arafaf@a 3re) Ao A 3ETaT W& FAT e
B,D,G,K,P,?

e T
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e V

e S

e R
Correct Answer :-V
4)
Question Stimulus :-

In a certain code BREAKER is written as DPGBMCT. How is MOTHERS written in that code
language?

et e smor & BREAKER %! DPGBMCT far@r Siar 1 3W % si1 & MOTHERS &1 &1
o s 2

OMVIGPU

UPGIVLO

SRETHOM

OMVIUPG

Correct Answer :-OMVIGPU
5)
Question Stimulus :-

In a certain code, SEND is written as 2%*@ and DREAM is written as @ $ % # S how is MADE
written in that code?

frelt F smar F SEND #1 2%+@ fa@a § 3k DREAM 1 @$%#5 fawa g1 3 % smwr &
MADE & & farg)

. SH@%

* @$%S5

o 5%#@

° 2@%$
Correct Answer :-5#@ %
6)

Question Stimulus :-
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Study the following arrangement and answer the question given below:
ZH2@SUL47%N3KT#1F9

Out of the given 4 options 3 are alike in a certain way based on their position in the given
arrangement and so form a group. Which is the one that does not belong to the group?

frrafaf@a saavar #1 waur gde sregaer w3 3R AT e 3 vea w1 3caw 3
ZH2@SUL47%N3KT#1F9

fordr 1 4 Rashedi A & 3 &t g cwarun A el Ry 0 & Tt § 3R 59 e v wopg 9§l
FleT AT 0F AT 30 THF A A E?

o K#7
e T1%
o U42
e NKL
Correct Answer :-U42
7
Question Stimulus :-
S tudy the following arrangement and answer the question given below:
ZH2@SUL47%N3KT#1F4

How many such numbers are there in the arrangement which have symbols either immediately
preceding it or following it?

frrafaf@a caawar #1 wraureh (@ sregaer #1 3 AR e T weaq w1 3eav &
ZH2@SUL47%N3KT#1F4
sgaeyT 7 fraer O 31w & e i 9ga 91 i a1e 6 82

.2

3

. 1
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e None of these / SIH & HI$ A&
Correct Answer :-3
8)
Question Stimulus :-
S tudy the following arrangement and answer the question given below:
ZH2@SUL47% N3KT#1F4

Which of the following is the sixth to the left of eleventh from the right end?

Pl saavyr 1 Araur @@ sreads F3 3R AT e 1= gea 71 seaw |

ZH2@SUL47% N3KT#1F4

fArafaf@d & @ wia a7 31 31X F 7TIRES & 918 AW Toarg?
. 4
)
« H
e T
Correct Answer :-H
9)
Question Stimulus :-

Study the following arrangement and answer the question given below:

ZH2@SUL47% N3KT#1F4

How many such symbols are present in the arrangement which are immediately preceded by a

number?

el caaeyr #1 arauE (@@ sreaas w3 3R T R a2 92 F1 3eaw &

ZH2@SUL47%N3KT#1F4
AT A W Faa gFd § s [T 97 F I3F g
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o 2

o 1

e 3

e None of these / 3R ¥ E A&
Correct Answer :-2
10)
Question Stimulus :-

R is sister of S. S is brother of T.T is son of U. How is U related to R?

R, S 1 98T 1 S,T &1 &€ §1 T, U &7 97 §1 U ST R & F7 feam &2

Son/9d
-]

Daughter/‘fﬁ'

Mother or Father/ ATAT IT 4T

Cousin/ &

Correct Answer :-Mother or Father/ ATAT a1 ar

11)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

1. Statements:

(A) All trees are sharks.

(B) All sharks are balloons.
Conclusions:

I. All sharks are balloons.

II. All balloons are trees.
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III. Some trees are balloons.

IV. No tree is a balloon.

M RAMA T FANRBaAFIFE iR zaF I L I, 11 3R 1V fsws R 3 &1 3musr &
AT FUAT F T ATAT &, HA ' § FIATT a241 A e 81| Toft sy afed vy aa AT Hir
FleT AT T 4T I FHYUAT T AT FIT

FY:
(A) Tt 93 o €
(B) Y e T[san §
s
I et s aean B
1. gt e 93 ¢
. F& 93 aR ¢

IV. &8 93 JEarT 781 ¢

Only I & III follows/ &aer I 31X 111 37THI0T HTT 1

Only II & 111 follow/ &ael 11 31X 111 3[HTOT FTT

Only either I or III follows / &del T AY I AT 111 HeJHIUT AT gl

None of I, IL, I1T and IV follows/ =T & L, IL, III 3 IV & & S 31e]aI0T FIT ¢

Correct Answer :-Only I & III follows/ &ael I s HHIOT T gl

12)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, IIT and IV.

You have to take the given statements to be true even if they seem to be at variance with commonly

known facts and then decide which of the given conclusions logically follow(s) from the given
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statements.

Statements:
(A) All google are cameras.
(B) Some cameras are watches.
Conclusions:
I. Some cameras are google.
II. No cameras is a google.
III. Some watches are google.

IV. All watches are google.

AR RI IR NAFAINRBFITE R ITF L I, LI 3R IV Aswy = a3 &) smuer &3
AT FYAT P T ATAAT 8, ol &1 T FaATd a1 & et gf 1 wsi fAswy gfed fve aa ffFw i
PleT |1 T% 4T 71 Fo=l T 30T FIT R

HYUA:
(A) Wit aparer Sy
(B) F& HAY it {|
fee:
L FoHFM I
L. S FFRT I 8 8
1. F& af3i aere 2|
v.  usft af3ar aEre 3
e Only I and III follows/ &ael I 31X 111 3=[HROT FIT

e Either I or II follows/ Iray 1 AT II W CIGI %’I
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o Either III or IV follows/ T aY 111 AT IV HJHIUT AT gl
e Only I follows/ #del I 3[EIOT FIT Bl

Correct Answer :-Only I follows/ &ael I HTEIOT HTAT gl

13)
Question Stimulus :-

In the question below, there are two statements followed by conclusions numbered L, I1, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A) Some girls are bangles.

(B) Some bangles are pillows.
Conclusions:

I. Some bangles are girls.

II. Some pillows are girls.

III. Some girls are not pillows.

IV. All pillows are girls.

A RA A NRAA N FUFT IR ITF IEL I, 1 3R 1V swmd 3 13 &1 39 R a1 Foat Y
AT ATAAT §, 5T g1 d FaATaT azat § B gh| wsiht sy oy fey g Hifcre Hi e 33 wa=t
FT aF I T § ITEOT AT o

FqT
(A) Fo wsfHar 9f3ar 81
(B) F& qf2aiafsA gl
fasa:
I Fo gt asteai §
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1. F&afFd asfHar g
1. F& asfrar afeai adi g
Iv. g3t afed asfrar &

Only I follow/ Fde I 37e[HIUT &Il ¥l

Either II or III follows/ IT @Y IT AT 111 W CXGIE %I .

Only either I or III follows. &der AT AT I AT 111 HHIOT T gl

Only I & II follow / &aef I 31 11 3=]HTOT FIaT 8

Correct Answer :-Only I follow/ de I 80T FIaT gl

14)
Question Stimulus :-

Suresh, a 7 year old kid, loves writing numbers. One day he sat down to write numbers from 1 to
100. How many times did he write 7?

U 7 I ST U F FEAT FAG1 16E §1 0 oot 98 1 100 T iy T forwe dor ar
38+ 31 7 fFast IR forar gem?

e 11

e 18

e 20

e 21
Correct Answer :-20
15)
Question Stimulus :-
An apartment has six floors, referred to as floors 1 to 6 with 1 being the lowest and 6 being the
highest. Six friends Lakhan, Manoj, Nandu, Ojas, Pankaj and Qatar occupy the six floors, not
necessarily in the same order, with only one person living on one floor. Find below some additional
information on their stay in the apartment.

(i) Nandu is same number of floors apart from Manoj as Manoj is from Lakhan.

(i) Pankaj and Qatar are not on adjacent floors.
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(iii) Qatar is on a higher floor than Ojas.
(iv) Lakhan is on the floor 5.

Which of the following must be true, if Nandu is on floor 1?

TFHTAA 1 ¥ 6 dF 6 dT & Fad ¥ 1 G forwar 31 6 6@ 398 g &1 6 S @, AA,
g, 3T, Tahet 3R FAR §7 6 Tall W IEd &, TS 781 7 T FA A WA &V 0F dd WUH @
qfFa @1 ¢ 37 fovare % IR A o sfaRea S frafaf@a -

() I gT @ ¥ AT W@ 8, 3T 81 T HaAlor § g @1 ol

(i) T I FAR FANAR Tl WA WA 81

(i) FAR, NTH @ 59 dd W @A ¢

(iv) G o HHATH 5 WIgaT gl

I3 7ig a« FATF 1| W@ 8, A ARRd F ¥ @ RRaa o d ad @
e Lakhan and Pankaj are on adjacent floors./ @I 3 Y& IR dell 9T g1
e Manoj and Pankaj are on adjacent floors./ HATST AT Yehol SAIMAR el 9T §
e Ojas is on a floor higher than floor 2./ NS d FATH 2 § 3918 W
¢ Qatar is on a floor higher than floor 3 /Waamsﬁjméw%l

Correct Answer :-Qatar is on a floor higher than floor 3 / R del HATH 3 W FAE WEI

Topic:- Agriculture

1)
Question Stimulus :-

Which of the following is a stem borer in rice plant?

T & ¥ FiF U FT g7 SeF 2

e Scripophaga incertulas/ TH. g e dTH

e C.Medinalis/ ®Y. Ao

http://localhost:61852/ 45/84



11/24/2015 localhost:61852

e Cyanobacteria/ FIAAFARAT

e P.Pictus / dY. R¥ew
Correct Answer :-Scripophaga incertulas/ TH. oo drH
2)

Question Stimulus :-

Which of the following is a cotton bollworm?
far & @ &l w1 FIw giea#T 2
e Helicoverpa armigera. /T, 3Taffarer
e Helicoverpa zea. /ud. faT
e Spodoptora litura. /TH. ﬁ?\TI’
e Apis dorsata. /RTA¥ sRECT
Correct Answer :-Helicoverpa armigera. /T, 3Taffater

3)
Question Stimulus :-

Which of the following is the biological control agent against cotton bollworm?
farsr & *l @1 FI i It F1 ARF fie FEE

e Trichogramma spp. I@%ﬂﬂm Y

e B. Thuringiensis. Icif ﬂ;ﬁ?l'mﬁ'\‘l'

e B.bassiana. /&Y. af&=T

o All of these/ IURIFd waft

Correct Answer :-All of these/ 3U0Fd T
4)
Question Stimulus :-

Major insect pests of chickpea are?
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T F TG T 82

Gram pod borer. /AT 918 aRT

e Cutworm. /&c TIH

Semilooper. /'\q?ﬁw

All of these / 39UFd T

Correct Answer :-All of these / 390Fd Tt
S)

Question Stimulus :-

Which of the following are good insectaries plants that support predators of insect pests.

Fret F RFINAT A TERT S arer 3 uier wiq ¥ &2

Sunflower/ '\qﬁﬁ@
Okra / T

Cosmos/ FITATH

All of these / 390Fd Y

Correct Answer :-All of these / 390Fd T
6)
Question Stimulus :-

Major weeds found during chickpea cultivation is/are?
T P FHA A g/ 9 qTell WHE GITAIR FieT FE 82
e Bathua/ Y31
e Yellow peal':n'aﬁ HSY
e Choulai/ TemE
e All of these / 390Fd T

Correct Answer :-All of these / 390Fd T
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7)
Question Stimulus :-

Bordeaux mixture consists of?
TReFFd fAsOT # gar 82
« Copper sulphate + Malathion/FI@R Fehe + RATTAATT
e Copper Sulphate + Calcium Hydroxide/®hqT Hehe + Earpra 313‘;7?&133
e Calcium Carbonate + Calcium Chloride/ eI Hidfae + o FARISS
e Methyl Isocyanide/fAUTSer ATSHT AAATSS
Correct Answer :-Copper Sulphate + Calcium Hydroxide/&T9Y Hehe + e 313;?3"&133’

8)
Question Stimulus :-

Endosulfan is a:
VS Iew §:
o Herbicide/ WITITRATRMR
* Resticide/ YRTOATRIF
¢ Fungicide/ ‘Ftk_@l?-lTQl'cF
e Pesticide/ STCTAR
Correct Answer :-Pesticide/ TS

9)
Question Stimulus :-

Which of the following is a herbicide?
far & @ i 91 EUaEreRE 32

e Endosulfan/ U=3IGeHTT
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e Imazethapyr/ SASTANT
e DDT/ 3.3A

e Malathion/ AT

Correct Answer :-Imazethapyr/ SAaTaRT

10)
Question Stimulus :-

Bt-Cotton is a GM crop having?
A FUrw vH N T wu ¥ O ar
e Insecticidal gene/ Freareft s
e beta-Carotene gene/ dleT & el
e Weedicide resistant gene/ Gygaaremelt et s
e All of these / 390Fd T
Correct Answer :-Insecticidal gene/ @re=mefy Sfier

11)
Question Stimulus :-

Cation Ladder theory of active absorption in plants was postulated by?

qlet & vfdeq araenyor fY Fema d=T LA Faa &

Hopkins / GTCIﬁWT

Guha & Maheshwari/ el 3R Argeadl

Middleton & Russel/ fAgeesT 3T A
Singer & Nicholson/ R 33X Aeawe

Correct Answer :-Middleton & Russel/ fAZdeT 3T &

12)
Question Stimulus :-
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The mineral constituent of the cell wall is?

Fifde wifa & @fasr ges &2
Boron/ &R

Calcium/ Fedas
Manganese/ #HITellor

None of these/ 38 ¥ HE AR

Correct Answer :-Calcium/ hed=H

13)
Question Stimulus :-

In roots active uptake of minerals mainly depends upon?
S5t i viFed s Faun 1 A& 7 F fhad e @ard?
e Availability of light/ amée v 3qafeufa )
e Availability of oxygen/ TFHISeT &Y 3ufeyfa &
e Hormone/ gRAT
e None of these/ HI$ Tl

Correct Answer :-Availability of oxygen/ 3TFHIeTT 1 3ufeafa &

14)
Question Stimulus :-

Ion carriers are located in?
3o HRAT FaEd @
e Chloroplasts/ FARICATEE
e Cell membrane/ UeTAFAT
e Nucleolus/ Fﬂﬁﬂ'ﬂ’lﬂ
e All of these / 390Fd T
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Correct Answer :-Cell membrane/ SeTRFdT

15)
Question Stimulus :-

Uptake of nitrogen from soil, by most plants takes place in the form of?

gl A @ Ao R 9 F TET WA
¢ N,
¢ Nitrite/ slT$cIsc
e Nitrate/ slTg¢e
¢ Nitrous oxide/ siTgcH ITFHISS
Correct Answer :-Nitrate/ sT3¢c

16)
Question Stimulus :-

Role of carrier protein is in?

FRAT NAT FA1 Far 2

Wilting/ fafeear

Active Transport/ ¥fFeq gyl

Passive Transport/ 4fAa grEaae

Stomata Opening/ FTEIAET 3qfaT
Correct Answer :-Active Transport/ ¥f&Fea @yl

17)
Question Stimulus :-

Diffusion of mineral ion into the root cells of plants is known as?
dlat Ft St fr A 7 @fasr I3maeT w1 Bwgser FA1 FEarar 82
e Active absorption/ TfdFed TrAUE
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e Passive absorption/ ST 3reaicela
o Exosmosis/ TFAINMAATAHT
e endocytosis/ TSN
Correct Answer :-Passive absorption/ 94f8d 3reacels

18)
Question Stimulus :-

The formula for ‘balanced salt solution of mineral elements’ for plant growth was given by?
dat #r Iy F1 @fasr acat F1 wqfea aaF gamer w71 g e G

e Knop/ 9

e Hoagland/ O CE

e Watson/ dIcHd«d

e Hill/ e
Correct Answer :-Knop/ &9

19)
Question Stimulus :-

According to stiles and kidd (1919), the ratio of internal concentration to the external
concentration anion is known as?

Tersd 3R fFs & IrTar (1919) fafes f#Afor stk aew Maor st 1 sequa Fgamr ¢
e Cytochrome pump/ HTSEIHIA
e Absorption ratio/ 3rediIceler HeuTe
 RFvalue/ 3IR.T®. deg

e None of these/ El'flé' a8

Correct Answer :-Absorption ratio/ 3resiteeie 3e[dTcd

20)
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Question Stimulus :-

Prevention of entry of one ion by another when two are present in almost equal concentration is
known as?

9 P &) 3T T A A S ¥ A F WA gEY WA F 9 F v F U a1 ¥ 39
9fshdT Y FAT Fgd 87

Antagonism/ TETNfAId

Saturation/ @ﬂ'l’%l?l'

Competition/ HTFIEIAT

e Doman equilibrium. /AT H@ﬂ?l'
Correct Answer :-Competition/ HTFIEILIT
21)

Question Stimulus :-

In the absence of Ca, absorption of K & Br is reduced in @ plant while the same increases in the
presence of Ca. This phenomenon is called?

v #r eqafeafa & K 3K Br &7 s@ayor o & &F Srar § s@fF sufeafa & 9 smar 31 5@
afshar Y e &

Saturation/ @ﬂ'l’?l?l'

Competition/ HTFIEIAT

Antagonism/ TeTNfasTH

Osmosis/ 3TATAT

Correct Answer :-Antagonism/ TerRNf{asTd

22)
Question Stimulus :-

The free space of cell wall and other extra cellular space outside the plasma lemma is differentiated
into?

CATSAT o AT T fF FIRARIRAC & fiv 3ufeyafd Frefa saa # JFanfea fFar aar 81 sa@
FEd §?
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e Water free space/ arel ¥I T4
 Donnan free space (DFS)/ SieeT ¥ ¥OH
e Both (a) & (b)/ @ T T &t

e None of these/ HI$ Tl

Correct Answer :-None of these/ HI g

23)

Question Stimulus :-
The father of plant physiology is-

gler fFar s & Rar &

Robert Brown/ q&¢ T3

M. Calvin/ TH. $feas
Stephan Hales/ TéI%d god

Skoog/ ¥haT
Correct Answer :-Stephan Hales/ T god

24)
Question Stimulus :-

Technique of growing plants without soil is known as

Her W dter sama A R 731 Fgerd &2
Hydroponics/ 31'5’;’!’@!‘%’&?
Bonsai/ S1cHTS

Aqua culture/ TFHAT heX

None of these/ ﬂﬂé’ g

Correct Answer :-Hydroponics/ gEgraifa®

25)
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Question Stimulus :-
Uptake of zinc by plants took place in the form of-
gl & S g w0 & Tgor frar Smar §-
e Zn*

° Zn++

ZnSo,
e ZnO
Correct Answer :-Zn*™*
26)
Question Stimulus :-

In which form are the inorganic nutrients are present in the soil?

ST A IFEfaF Nwor fFw w9 F 39U e &2

Macronutrients/AHlgede
Electrically charged ion/ gﬁa@ﬁﬁ gres T

Atom/ AT

Parasites/ t)TI'\"I'I'E?I

Correct Answer :-Electrically charged ion/ SAdeIhdl dlss T

27)
Question Stimulus :-

During photosynthesis, bulk fixation of carbon takes place in?
YHIT AT & AT FTaT FT Jog FAAH0T fFaad giem &2
o Xerophytes/ SRIBISE
e Oceans/ HGMNRR

e Evergreen forests/ TaTdleT BREC
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e Deciduous forest/ gﬁ‘\%ﬂ? BREC

Correct Answer :-Oceans/ HgMHIY

28)
Question Stimulus :-

Photolysis of water is linked with?

WL THe S0 & fFd 7 g ar 2

F, particles/F; &0T

PS-I/ H.vH.-|

PS-1I/ H.uwH-11

Cytocrome-C/ HISEIHIA-C

Correct Answer :-PS-1I/ 9.vd-1]

29)
Question Stimulus :-

During photosynthesis, the light reaction takes place in?

YHIA-HAYT & FAY, drse NAFr= fraad gt @2

Stroma/ TSIHAT

Thylakoids/ ATSAHISS
Vacuoles/ éa"agr

Fret channel/ %< AT

Correct Answer :-Thylakoids/ YTSAFISS

30)

Question Stimulus :-

C,4 Pathway for CO, fixation was 15t reported by?
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€O, TY{HIOT & Hi-4 UTUd F ggell IR Faa qamm?
Arnon/ 3TeleT

Calvin/ ¥feasr
Hill/ f&er

Hatch & Slack/ 8T U9 el

Correct Answer :-Hatch & Slack/ & Ud Tl

31)
Question Stimulus :-

Which of the following crops is cultivated on a large scale in India?

T & @ Fla @ FHal Y T A ¥ TR W @A i e @2

Wheat/ ﬂ'i:.'\:

Potato/ 311?[

Rice/ dTdel

Urad/ 3¢
Correct Answer :-Rice/ dTdel

32)
Question Stimulus :-

The chief source of sugar in most parts of world is?

faeg & e T Wa@ W@ &G FhT ar 872

Beet root/AFIHE

Saccharine/ Fh{eT

Sugar cane/ ool

Dates/ {43 @Y
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Correct Answer :-Sugar cane/ 3eell

33)
Question Stimulus :-

Which of the following pulses is a rich source of phosphorus along with protein?
feT 3T F FREERE & WY NET HT HTH 3T TAd 87

Chick Pea/IdlT

Arhar/ 3I{gY

Urdbean/ 35¢ $ gl

Moong beans/ﬁgT $rgrer

Correct Answer :-Urdbean/ 35¢ & &rel

34)
Question Stimulus :-

Which of the following is the second most important pulses crop of India that is grown in the
kharif season?

e # @ qEl a0 I wud Fi9 @ § S @ Ow F Aww 7 @6 §2

Chick Pea/ eIl

Arhar/ 318X
Soyabeen/ Tl

Moong beans/ﬁ‘?T $r g
Correct Answer :-Arhar/ 3I{gY

35)
Question Stimulus :-
CANCELLED

Central sugarcane breeding research Institute is located at ?
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Aee YIRF sifsr Rt sEege we1 Fua &

Karnal/ &3eTel

Bhopal/ #1qTer

Lucknow/ T&dAS>

Coimbatore/ HITFII
Correct Answer :-Lucknow/ dT@d3>

36)
Question Stimulus :-

A crop that cannot survive in wild and depend completely on human beings for its survival is/are
called?

ar Fldt THe § S B Sieren # ardew Aqsy W oquia: ek §
e Pampered corn/H&HRT
e Cotton/9TH
e Jute/S[C
e Rice/dTdel
Correct Answer :-Pampered corn/HhT

37)
Question Stimulus :-

World’s major food crops belong to which of the following family?

foreg # o g Fi9 Fie7 W SfAH T §2

Palmaceae/9IHHY

Gramineae/ AfAAT
Moraceae/ AR

Cucur bitaceae/ iﬁﬂ'ﬁ%’x‘ﬂ'
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Correct Answer :-Gramineae/ A&

38)
Question Stimulus :-

Which of the following is not a variety of wheat?

foreer & & o7 ot O Y e T @2

Sharbati/eR&d}

Sonara/ TEART

Pusa Lerma/ JHT AT

a.5M-315 J.G-315

Correct Answer :-31.511-315 J.G-315

39)
Question Stimulus :-

Which of the following variety of wheat is mainly used for preparing pasta and noodles?
forer & @ et 4t st &1 31, I SR g q@TA A e el 72

T.durum/ &. &

e T.Monococum/ €. AIRIHH
T. aestirium/ &. VTEARIH
T. dicocum/ &Y. E'IET#IW

Correct Answer :-T. durum/ &. §&

40)
Question Stimulus :-

Canvas is made from which of the following?
heTaTd 58 ¥ fFaA IaAaT8?

e Jute/ S[C
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e Sunnhemp/ TAGFT
e Flax/Feleq
o Cotton/ﬁz?l'

Correct Answer :-Sunnhemp/ GdIgFq
41)
Question Stimulus :-

During biological process of weathering of rocks which of the following increases the amount of
available nutrient at the rock’s surface by photosynthesis.

IE & dgard 1 Afdw ufkar F R, wERr GAr & ganT, gEe A qag W ANF
dcd Y AT FiF Toa &2

Fungi/ tl?ﬁé?

Bacteria/3ﬁHTUl'

Lichens/ ?-lﬁﬁ-»_a-l'
Insect/ 1T

Correct Answer :-Lichens/ dTSehel

42)
Question Stimulus :-

During weathering of bare rocks, which of the following is not method of physical process?

et & @ Sl H T & Feena i sifas ufear ¢t &
Freezing/ahfel

Hydrolysis/ gTs3ifafad

Glaciation/fRATEB TG

Wetting drying/3ftelr g@m=

Correct Answer :-Hydrolysis/ ﬂ%ﬂﬁlﬁ'\‘r
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43)
Question Stimulus :-

Which of the following is not a chemical process of weathering of bare rocks?
et & & wlad) gze & AT f aaas R ad

Hydration/ gT332erT

Carbonation/ HTafaereT

Chelation/ =erereT

Heating-Cooling/ gife&ar ij?l’JT
Correct Answer :-Heating-Cooling/ f&ar H‘fﬁﬂT

44)
Question Stimulus :-

Al, A2 & B soil horizons are collectively known as?

FFATAT F&T qelg -1, T-2 3R ot e o7 & et siefr 32

Mineral soil/ goir HeT
Solum/aeH

Podsol/qgdTeT

Both (a) & (b)/ AT (a) T (b)

Correct Answer :-Both (a) & (b)/ | (a) g (b)

45)
Question Stimulus :-

Which of the following factor affecting soil formation is not passive?
3T § FiIT & FR a1 fvaAtor 7 TS a7dt o2
e Parent rock/93C Uh

e Topography/ XQEITHY
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e Time/ AT
e Wind/ gar
Correct Answer :-Wind/ gdr

46)
Question Stimulus :-

Best soil type for plant growth is?
gl #r gfe ¥ AT ga@ s a1 Flaw 2
e Clay soil /&=t &g
e Loam soil/aWe g
o Coarse sand /gl ¥
e Gravel/&#s
Correct Answer :-Loam soil/@¥#e fAgT

47)
Question Stimulus :-

Which type of water is used by the plant?
qhet garT e 7 @ e w1 Srer 3wAher R Smar 82
« Gravitational water/I[GcaTyor arel
e Capillary water/ &dYerl drex
o Hygroscopic water/ redargeff arex
e Bound water/ ¥133 dIeX

Correct Answer :-Capillary water/ Fderl areT

48)
Question Stimulus :-

Deficiency of which element in soil prevents the transfer of electron in plants?
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T dea Y Y F FROT glet F sATerd F1 IRTg Agt g 8?
Zinc/ i

Iron/ 3T

Magnesium/ H3Aas

Sulphur/ He®Y
Correct Answer :-lron/ 3T

49)
Question Stimulus :-

Deficiency of which element in soil causes chlorosis in plants?

P deg 1 FH F FROT gyt F FRRAE ar 2

Iron/ 3T

Magnesium/ #Tfagsr

Carbon/ &Teel

Sodium/ WfsIH

Correct Answer :-Magnesium/ H7RIar

50)
Question Stimulus :-

Total amount of capillary, hygroscopic, combined water and water vapour present in the soil is
known its:

a1 7 Fdterd), g e, wieaed va ary & w7 7 #iS[g, Fo Il Y AT FAT FgATH 02
e Storage capacity/ TERST HUIfar
e Field capacity/ $reg HFANEE
« Soil water potential/FaT it qERATer

e Moisture equivalent/ HATSRTT 3’3’{3‘@?
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Correct Answer :-Field capacity/ ®res HIIfa

51)

Question Stimulus :-
First man made cereal is -
9gal AT AT e sl a1 2

Bt.cotton/ &Y. FiceT

Maize/ HTFRT

Triticale/ fefeder
Rye/ T$

Correct Answer :-Triticale/ fefeder

52)
Question Stimulus :-

Genes of endangered plant species are stored in?
e W eI & S wE At ¥
Herbarium/gaRadA

Aquarium/ TFIRIH

Gene bank/ SfieT d&

Seed bank/ 1T dF

Correct Answer :-Gene bank/ sfieT dF

53)
Question Stimulus :-

Dr. M..S Swaminathan pioneered in mutation breeding and released a wheat variety which is

ST, TA.UW. THIAYA & Anedl #, 7geee Nffa g i Fe gonfa sl A 7 {2
e Sharbati Sonora/ eREdT TART
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e Lerma Rojo 64A/ ATAT VelY 64 T
e Sonalika/ HleITelehT
e Kalyan sona/ &edred QYT
Correct Answer :-Sharbati Sonora/ eREd FIART

54)
Question Stimulus :-

Which of the following wheat variety is resistant to yellow and black rust?

¥et vd s we @ vy B @ 4 i e
Lerma Rojo 64/ ATHT USiT 64

Sharbati Sonora/ IRAdT TIART

Shera/ T

Kalyan Sona/ &edTel QYT

Correct Answer :-Lerma Rojo 64/ THT U<AT 64

55)

Question Stimulus :-

Which of the following wheat variety is evolved by gamma irradiation at IARI, New Delhi?

311?.13.3111.311%.ﬁﬁwﬁﬁﬁmﬁﬁ,mmﬁmﬁiﬁmﬁmmﬁ%l

e Kalyan Sona/ &hedTel |

e Sharbati Sonora/ IRTAT HART
e Lerma rojo 64/ AT Uil 64

e Shera/?RT

Correct Answer :-Sharbati Sonora/ IRl FTRT

56)

Question Stimulus :-
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The superiority of F1 hybrid over its parents is referred to as?
ATA-fAAT & 39T, F1 6T Y Asaadr Fad & & &1 e 82
e Hybrid vigour/ 8Efas e
e Heterosis/ Tgelf@d
* Both (a) & (b)/ @Y (a) T (b)
e None of these/ T8 & &g Y
Correct Answer :-Both (a) & (b)/ Sl&Y (a) TF (b)

57)
Question Stimulus :-

Which of the following crosses are example of inter generic hybridization?
e F @ i 91 e AARF THIOT FT 3STEIT §?
e Sugarcane sorghum/ 3Teoll -

e Sugarcane-bamboo/3Te=T - I

Wheat-mustard/ ﬂ{-TI?
All of these/ IURIFa Tt

Correct Answer :-All of these/ 390Fd THT

58)
Question Stimulus :-

Cross made between two different species of same genes is known as?
Q Rffew fFeal & Siew & T Fra Fa1 Fgarar &2

¢ Intra-generic hybridization/ ém—@ﬁﬁﬂ? HHIOT

¢ Inter-generic hybridization/ S'ET-GTFTﬁ'iF HHIOT

e Intra-specific hybridization/ $eU-FAfAfPF FHIOT
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¢ None of these/ 3TFd H ¥ FIE gl
Correct Answer :-Intra-generic hybridization/ $eIJI-SaI& HHIOT

59)

Question Stimulus :-
Which of the following species of earthworm is a more versatile waste eater & degrader?
Fg3t A Fla @ gonfa Fad SR @A IS sarw AR Rged & arelt F7
e E.fetida/$. PIesT
e E.Eugenia/s. ﬂjﬁ'ﬂT
¢ L. Rubeller. / Td. TdelX
e P.excavatus/ 9).UFHECH

Correct Answer :-E. fetida/§. $TesT

60)
Question Stimulus :-

The processed cellulosic material mixed with minerals &microbes as aggregates is called as?
BR-oR Ful ¥ MftT AEEEw ik @R BT degeieT mRTT F T Fea ¥
Biosolid / STAHIfIS

e Vermicompost /| GHIGFFIFE

Vermiwash/ a#farg

Feaces / Hfaw

Correct Answer :-Vermicompost / HRFIEE

61)
Question Stimulus :-

NADEP method was first developed by?

a3y fafer gew gga fFwer
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e M.S. Swami Nathan/ TUH. TH. FaTHIITe
¢ N.D Pandhari pandey/u=1. 3. gorefix a3
e Charak/@®

o Susruta/ AT

Correct Answer :-N.D Pandhari pandey/us. 3. qorefixqis

62)
Question Stimulus :-

In NADEP method of composting the shape & structure of the composting chamber is like?
HFFNRTEI A AT /AT FHr FTar FArg?

e Partial honeycomb patternlET-ﬂTﬂﬁ' Yot

o Well shape/de a9

e Boat shape/&’l? g

o None of these/ SIH & P G

Correct Answer :-Partial honeycomb pattern/ gelterrFa et

63)
Question Stimulus :-

Whole farm planning is a process of planning, property design and management based on?

Natural resources/ F]?-_BT‘I' oq

Economic factor/ 3+ &R&

Both (a) & (b)/ &Y (a)a T (b)
None of these/ gmfr q FS a8

Correct Answer :-Both (a) & (b)/ @Y (a)a T (b)
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64)
Question Stimulus :-

During farm planning, major areas of decision making includes?
faokr o & atear frg Bt yeUe & siada e @2
e Production of crops & livestock/ ®d WISF2AT g olIgdECIh
e Acquiring inputs/¥sFariar gaqc
e Obtaining credit/ ®f3e AT
o All of these / 3U0eFd FHY
Correct Answer :-All of these / 3Uad T3t

65)
Question Stimulus :-

Which of the following are called critical elements?
far F @ Agcat @ frad 87

e N, P,K

e 0, N, H,

e B, Mo, Ag

e None of these/Sad & aﬂé Tl

Correct Answer :-N,, P, K

66)
Question Stimulus :-

Which of the following elements get early precipitated in alkaline soils?
aRIIHET # FiqT & dcg e & IR @ I P
e Cu/&MY (Cu)

o Mn/&reIST(Mn)
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e Botha & b/ T 3R T =T
¢ None ofthese/s?m‘@'ﬂflg'ﬂff

Correct Answer :-Botha & b/ U@ 3ﬁT C} @Fﬂ'

67)
Question Stimulus :-

Fertilizers are directly supplied to the plants by?
Qi ¥ 3dE @ FoaTs Prad qaNT R o1 @ ¥
o Spary/¥%
o Immersion/SAIHT
e Injection/zateeraT
e All of the these/3UFd THY
Correct Answer :-All of the these/3URIad &t

68)
Question Stimulus :-

In foliar nutrition minerals enter inside the leaves through?
wfewR =gfee & afas afeadl # wdu fFed g w2
Ectodesmata/TFISHACT

Cuticular cracks/FIfeFIeR HFd
Stometa/TAACT

All of the these/3URFa Tl

Correct Answer :-All of the these/390Fd Tt

69)
Question Stimulus :-

Nitrogen and Phosphorous sprayed on the leaves at time of flowering results in?
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qSUdHEAY, Jieadl W ABSS AR GEGRE ST @ F4T1 gar 87

Increase in fruit yield/&ell $I &1 Tt §

Improve their protein/f&T TR d&dT &

Both (a) and (b)/gidY(a) 3iT (b)

None of these/
3TH ¥ S A4

Correct Answer :-Both (a) and (b)/gldY(a) 31X (b)

70)
Question Stimulus :-

It is always advisable to apply entire quantity of the potash at

GISTer HT SEAAT HAGT SYFT Fd FIciT 82

Sowing time/dlat & §AT

Harvesting timeléﬁﬂﬁ'ﬂ *F AT

Mid of crop season/HT & AT H

None of these/3sTH & #E g

Correct Answer :-Sowing time/dlst & AT

71)
Question Stimulus :-

Application of fertilizer during irrigation is known as?

RS F AT 38F sTaATT A R_AY F=a1 Fga 82
e Sprinkler/f9y®er

. Fertigation/tI‘Tcﬁ?T Ut

e Emasculation/S®' Q@QH
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o Bioleaching /arayelfaar

Correct Answer :-Fertigation/®eTaereT

72)
Question Stimulus :-

According to Russian soil scientists, the presence of white crusts of soils on the surface of saline soil
is often referred to as?

T 7T drfAl & HTAR, dGUNT HST A FAg W U ST qTell ThG W F1 FAT Fgd 87

e Solonchaks/@Te>dTFd

e Humus/egHdA
e Caustic influence/&HTTecH S?I'Q-_gl,'ﬂ?\q'

e Inundation/STelcdidd

Correct Answer :-Solonchaks/aTel =Ty

73)
Question Stimulus :-

Which of the following Indian state has the largest salinized (saline) area?

A & ¥ FlF 91 9RAT TST FEW FeT FauiT 8T 872

Rajasthan/ITsrEgT

Gujarat/ I[=RTd

Kerala/&Ia

M.P/AEIYEer

Correct Answer :-Gujarat/ J[sRTd

74)
Question Stimulus :-

The wilting coefficient of saline soil is?
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aqoiir Fer F1 fAftaw qonE w2 @
e Very low/agr-r &
e Very high/a§?|' o giar
) Optimumlaﬂﬂjﬁ?l'
¢ None of these/3eH & HE g

Correct Answer :-Very high/ag?r SgTer

75)
Question Stimulus :-

Crop residues cannot be applied directly to the field because they:
wael & YT N Proz Wl T TR
* have wide C : N ratio/ 3eTT C:N 34T dsT giar %
e are hard to apply/ &fSeT T
e May intercept ploughing/ s_g—né oo Y1 FIar g
e None of these/ TH & P G
Correct Answer :-have wide C : N ratio/ 3&T C:N 37e[qTdl 93T gl 8

76)
Question Stimulus :-

Which country occupies the largest land area under organic farming?

sifaw @At & raeta @ 31 a7 Fa o F g &2
e Australia/ 3TEfaAT
e Argentina/ 3RS TeeaT
e US.A./gTH.T
o India/qRd

Correct Answer :-Australia/ 3T¥eforar
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77)
Question Stimulus :-

Which of the following states/regions occupies largest land area under organic farming?

dfew @dt & Y fFe s & o w99 T3 AT §?
o Haryana/ gRmom
e Punjab/ 9SITa

e Kerala/ &hIeT

* North-east region/ 3cd¥ qj‘ e
Correct Answer :-North-east region/ 3caX qd Isq

78)
Question Stimulus :-

Which of the following is form of organic management and inputs?
SfeF veuer AR et F T AET 7§ w2

e Rishi krishi/ %Y H.

e Panchgavya krishi. [aeaTey E!:Tﬁ'

e Homa farming/ &YHT fﬁ'

o All of these/ 3URIaFd Tt
Correct Answer :-All of these/ 3Uad |3t

79)
Question Stimulus :-

The relative activity of Na™ ions in cations exchange reaction with the soil is expressed as?
ST # FeUa=d FHde UiHar # Na* 1 Rafes frar a1 &3 qafr smar §2
e Sodium Adsorption Ratio (SAR)/@f3¥# uwsaNera et (SAR)
e Electrical conductivity (EC)/ZaladIdel Hsacifael (EC)
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e Salt Index. (SI)/ GTee 539 (SI)
* Soluble Sodium percentage. (SSP)/ Hleqde |fzgH yfcera (SSP)

Correct Answer :-Sodium Adsorption Ratio (SAR)/Af2ad wsdlders Y2 (SAR)
80)
Question Stimulus :-

The method of irrigation in which field is divided into square or rectangular plots of 4 to 4000 m? guided on
all sides is known as?

Rias A v vgfy, Frasd @ &Y 4 - 4000 m? ¥ TS AT FAHFR CARH (S TR T ¥ AY @)
faenfara frar smar 8, A Fea 82

Check basin method/d% 38T ggfa
Ring basin method/R3T 3T ugfar

Border strip method/dTsY f@eq ugfar

All of the above/ﬂ'{iﬁ?l' g
Correct Answer :-Check basin method/3d% af8T g

81)
Question Stimulus :-

The concept of Drip Irrigation was introduced by?

f3u ganr =g (cuw fAEm) ssfa & v Qo & sl fFar?
o Israel/SoIIgel
o India/ART

e Australia/3TE T

e South Africa/
gfaror arfre
Correct Answer :-Israel/SSIISel

82)
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Question Stimulus :-

A geographical approach that collects draining water at a common point by a system of streams is called?
v shnfas alier S @ gl A arsd #1 vF Mg W Eha Fwar 8, # Fed 82

o Corrugations/®wNereT

e Drip irrigation/%'q ﬁ?ﬂ?

e Trickle irrigation/cq® =TS

e Watershed/areI2s
Correct Answer :-Watershed/drels

83)
Question Stimulus :-

One of the causes of watershed deterioration is:
TAGHT & ST & TH HROT FAT §:

e Shifting cultivation/fRTFEIT FeddeusT

e Jhum kheti/3[T @t

e Both (a) & (b)/AXT (a) 3T (b)

e None of these/m qA aﬂé c"l?l'
Correct Answer :-Both (a) & (b)/&Y (a) 3 (b)

84)
Question Stimulus :-

Very fine particle of soil carried away by winds by long distances (up to 100 km.) is termed as?

at gear O A & For gar yaw F @R 100 FA. TF F I IS}, I FA Fgaar g
e Abrasion/ Tt
o Efflation/ S¥elleT

¢ Efflution/ SFe[RreT
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e Extrusion/ gFACHUT
Correct Answer :-Efflation/ S%HeleleT

85)
Question Stimulus :-

Wind erosion in which big and heavy particle of sandy soil transfer from one place to another by heavy storm
is termed as?

At & ot va 92 Foit F1 aRaee ga1 F @R F SE ¥ qEA S AT FAT FgeAdT 82

Abrasion/ TS

Efflation/ ShereleT

Efflution/ $Fe[R0eT

Extrusion/ $FHCHAT
Correct Answer :-Extrusion/ $FHcHIT

86)
Question Stimulus :-

On-farm rain water management includes?

Bd W aIRe & gt & yaus & A 3T BT ¥ aeX yauaT & 41 WA §72
o Terracing/w
e Interface treatment/ SeeI®hd 3T
e Chemical amendments/ THIA® TEaTg
o All of these/ 3UNFa Y

Correct Answer :-All of these/ 3URGFd T

87)
Question Stimulus :-

The first stage of movement of soil particles (during soil erosion) in series of jumps is known as?

HeT FOUN FT FHAG ATLIH § Fg FIAI, FaT &7 H JYH Gy gt §, Twar Fed §7
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e Gully erosion/arell &1oT

o Saltation/ HTECAF

e Surface creep/ UIHH HIT
e Efflution/ YeFe[erel

Correct Answer :-Saltation/ HTeereT

88)
Question Stimulus :-

Floating of fine dust particles through the air is known as?
§aT & ATCAA F AGT F AT FUN FT qgAT FAT FgeAIAT §?
o Efflation/ SFeIreT
e Efflution/ $Fe[2reT
e Suspension/ eI
o Surface creep/83%d HIT
Correct Answer :-Suspension/ JEILT

89)
Question Stimulus :-

Malwa Plateau & Deccan plateau (Maharashtra) are included in the region of?

ATal Y8R R 39T YR (HERTSE) A &y &7 & wfde far arm 32
e Western plateau & Hills. / gRaHt wor 3ix Wﬁﬂﬂ'l
e Southern plateau & Hills. / faoft oo 3k qa%,tr’rl
o Central plateau & Hills. /| $=41¥ TR 3 ggIf3am
o None of these. / 38 & 1§ LT
Correct Answer :-Western plateau & Hills. / gfReH gor 3k ‘lﬂ%ﬁﬂl

90)
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Question Stimulus :-

Coffee, tea, cardamom & spices growing region in?
Y, T, s 3R AGTEl F der F g a7 2
e Western plateau & Hills. / 9fe#l IR sk LRIER
e Southern plateau & Hills. / @it s X ggifan|
e Eastern plateau & Hills. / q‘\ﬁ' TSR 3R geIfsa
e Central plateau & Hills. / F+41T IR 3T ggifzam
Correct Answer :-Southern plateau & Hills. / gféioft 9ar 3 ggif3am|

91)
Question Stimulus :-

Main crop of Gujarat plain & Hills region in/are?
ORI & HW T TETE AT H ATT B 82
e Pulse. /aTel
e Coconut. / ATRIe
¢ Groundnut. / ﬁgTﬁﬁ'l

e Spices./ HHTeTI

Correct Answer :-Groundnut. / FIrbel|

92)
Question Stimulus :-

Western coastal plain and Ghat includes?
et a¢ & dAqe 3R e & wfaa &
e Malalbar / HATATER|

e Konkan / &IH0T|

e Sahyadris/ WgATG!
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o All of these. / 3T & T

Correct Answer :-All of these. / S8 & sl

93)
Question Stimulus :-

In the Island region half of the cropped area is under
gdIT &1 F1 3T HEC REAr Read et T ¥
e Rice./ dTadl|
e Coconut./ ATRI|
e Spices. / AT
e Cashewnut. / $I9[|

Correct Answer :-Cashewnut. / S|

94)
Question Stimulus :-

Central plateau & Hills comprise of :
Falg IR IR gzt & = anfAe &
* Bundelkhand, Baghelkhand/ §3ei@s, T8a@Us|
e Bhander plateau/ 33T YOR|
e Malwa plateau/ HTedl YOI
e All of these. / 37#1' o gaft|

Correct Answer :-All of these. / 38 & T

95)
Question Stimulus :-

The application of fungicide, insecticide or a combination of both to seeds so as to disinfect them from seed
bomb or soil bomb pathogen or pests in termed as?
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dter #t PAdafaa a1 dieefaa A7 sryar FevRRa TR F v Fawaned, fears ar &t &
HANSTer A 9fFaT F FAT FEA 52

e Seed treatment / SSTAR

* Soil treatment / T 39T

e Weeding / A8

e None of these / s?l'ﬁ' q RIS AE
Correct Answer :-Seed treatment / SISiIaR

96)

Question Stimulus :-
Which of the following is a type of seed treatment?
farT # ¥ Fia i NuT F1 E TER B2

o Seed disinfection. / i EﬁITI'U:I_;QﬂEFI'I

e Seed disinfestation / disT fAardeT

e Seed protection / SIST HI&TOT

o All of these. / 3?# T st

Correct Answer :-All of these. / 38 & T

97)
Question Stimulus :-

Seed disinfection refers to eradication of?

disT FreTureitre F seoe & v weféia wars?
e Fungal spores / hdsh EﬁGITUI
e Viral particle / 9Ol 0T
* Foul smell / S€q|

e Moisture. / sTHY
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Correct Answer :-Fungal spores / &dsh a“lsnug

98)
Question Stimulus :-

Any break in the seed coat of a seed due to mechanical injury is referred to as?
dic Y qorg @ T F I FAT F & F FAT F@T AT 87

e Diseased seed. / IRMATT |

e Injured seed./ AeAFa Tl

e Wrinkled seed. / Ql;ﬂﬂ'ﬂ' Cic )

¢ None of these. / sﬂ'ﬁ' q FI$ AL
Correct Answer :-Injured seed./ TEATT T

99)
Question Stimulus :-

Paddy seeds can be treated by which of the following to improve germination and vigour potential?

IHFOT T 4T A GUR FA F AT a7 & i 7t wfaf@a & & rad ofta far s gwar
&2

s 1% H,SO,

e 1% KCI

e 1% NaCl

e Vitamins / T
Correct Answer :-1 % KCI

100)
Question Stimulus :-

The amount of pesticide (in mg/kg of body weight) needed to kill 50 percent of test animals as

laboratory rats is termed as?

JdaRd Y& & dlv 9T 50 gfderd qdeTor JHERT F AR F AT Ay fesnad f Ry (vHS H
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/ R & T F ) F FeT AT 2
e BOD/ 33t
e LD-50/ TA3I-50
e BD-01/ #i3-01
e COD/ I8

Correct Answer :-LD-50 / Tol31-50
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